MCF 3M - Mr. Choi

. Assignment 7

1. a) Calculate thegimple interest}eamed onan
investment of $5000 earning 2.85% per year for 30
months. [K: 2 marks]
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2. a) Determine the amount when $5000 is invested
earning 7.32% annual interest over a 6 month period
where interest is compounded monthly.| [K: 2 marks]
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b) Determine the final amount of the
investment
[K: 1 mark]
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b) Determine the total interest earned.
[K: 1 mark]
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4. Gary invests $1000 in a 5-year investment that pays 4.1% interest per year, compounded -
annually. .
P -
a) Display the growth of Gary's investment using a table of values and a graph. [C: 8 marks]
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b) How much more interest is earned in Gary's investment than a similar investment with no
compounding? [A: 2 marks]
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5. Determine the amount if $2000 is invested at 5% per year, for 2 years at each compounding

P= 2000
a)annually  [K: 2 marks]
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6. Draw a time line to illustrate each situation.
i a) $1000 invested at 5% per year, compounded annually for 7 years [C: 2 marks]
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b) $100 000 invested at 6.2% per year, compounded semi-annually for 3 years [C: 2 marks]
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7 ¢) $30 000 invested at 4.75% per year, compounded monthly for 1 year [C: 2 marks]
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7. To purchase a car, Daniel borrows $2900 from his parents at 3.2% interest per year,
compounded semi-annually. The loan must be paid in full at the end of 2 years.

a) How much money will Daniel need to repay  b) How much interest, in dollars, will Daniel

his parents?  [A: 2 marks] pay? [A:2 marks]
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8. Emma invests $3000 at 3.75% annual interest, mpounded monthW@nd -

$3500 earning 4% simple interest.
a) Which investment earns Emma more
money? . [T: Amarks]
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9. In order to expand her business, Madison wishes to borrow $20 000. She has found two
options.

»
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paid in full at the end of the term.

a) Which loan should Madison accept?
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10. Calculate the present value of each amount.

 $500 is required in 2 years, The money can  b) $1000 is required in 6 months. The money

be invested at 6% per year, compounded can be invested at 4.35% per year,
monthly. [K: 2 marks] compounded semi-annually.  [K: 2 marks]
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be invested at 3.75% per year, compounded be invested at 5.1% per year, compounded
quarterly.  [K: 2 marks] annually. [K: 2 marks]
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11. Yolanda needs $18 000 in 4 years to buy a new car.

a) How much must she invest now in a GIC payi % per year, compounded annually, to have
boi gl el
the required amount?  [A: 3 marks]
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b) If the GIC in part a) has interest compounded monthly, how much less will Yolanda need to
" 7"—-@
invest now? [A: 3 marks]
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12. Calculate the discounted payment of each loan today.

a) A $200 debt is due in 3 months, discounted
at an interest rate of 3% per year,

compounded monthly.  [K: 2 marks]
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c) A debt of $2000, due in 18 months is
discounted at an interest rate of 6.62% per

year, compounded semi-annually.
[K: 2 marks]
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b) A $450 debt is due in 1 year. Interest is 4.6%
annually and c@
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d) A debt of $5000, due in 2 years is
discounted at 3.85% per year, compounded

Lannually.
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14. Razeena decides to purchase an $800 GIC for 3 years with variable rates. Variable rates

mean that the interest rate changes over the term of the GIC (Guaranteed Interest Certificate)

- In the 1st year, the GIC pa

table of values and a graph. [C: 3 marks]

5-3.85% annual interest.

y. Display the growth of Razeena's investment using a

15. Emma wants to have $7000 i@to buy a motorcycle. His bank offers a 3__@

paying an annual interest rate of 4.32_:%, compounded annually.

How much would Emma need to invest today in order to have enough money to buy a

motorcycle? [A: 3 marks]
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16. Madison needs to repay a $2500 loan i ow much mightaﬁmd'rea‘s’creditor be
willing to accept today at an annual interest rate Wr@ounded monthly [A: 3 marks]
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17. Daniel wants to have $1000 in 1 year to go on a vacation. His savings account pays an

annual interest rate of 3.25%, compounded daily. How much money would Daniel need to have
-in the account today? [A: 3 marks]
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18. First-time homebuyers in Canada need to make a minimum down payment of 5% of the
purchase price of a house. Ho

annual interest, ¢
$300 000 house i
[T: 4 marks]
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